$$\frac{Group Theory}{Week \#7, Lecture \#25}$$
Theorem (Sylow I) If pt | 16| for some prime p ond k20,  
then there is a subgroup H=6 of order pt;  
[pt | 6| => 3H =6, 1HI = pt] (#)
  
Proof We will ruse induction on the order M=161.  
Clearly statement (x) holds for n=1. So assume theorem  
is the for all G furth groups of order 161<0.  
To show it holds for n=1. So assume theorem  
is the for all G furth groups of order 161<0.  
To show it holds for n=1. Go assume theorem  
(ass Equation (for the conjugation action of G on theff):  
[G] = [Z(G)] + Z. [G: CW]  
[Gi = [Z(G)] + Z. [G: CW]  
[Gi = [Z(G)] + So pl6 (rime k>0)  
So, by ), [F[Z(G)]  
Thus, by Carchy's Theorem, 3942(G) of order p  
Note: the salgroup 2a> CG is a morned subgroup,  
rince g at g' = a', Vr, V ege 6 [sime at 260]  
So, Ve may define the factor group,  
[G = 6/(a)], with projection to (b = (a)).  
Note: \* [G] = [G] = M < N  
Legnance

\* 
$$|\overline{6}| \stackrel{!}{=} \frac{|\overline{6}|}{|\overline{6}|} = \frac{1}{p} = p^{k+m} \implies p^{k+1}(|\overline{6}|)$$
  
[So, by the induction hypothesis,  $\overline{6}$  has a subgroup  
[K  $\leq \overline{6}$  of order  $p^{k+1}$ .  
Now let's look at the correspondence between subgroups  
of  $\overline{6}$  and those subgroups  $\underline{4}$   $\underline{6}$  containing ker( $\overline{r}$ ) = (a)s  
[ $\overline{6} \stackrel{\overline{a}}{=} \frac{-\overline{6}}{\sqrt{a}} = \overline{6}$   
[ $\overline{H} = \overline{t}(k) \iff k = \overline{n}(H)$ ]  
Then  $*$   $H := \overline{tr}^{-1}(K)$  is a subgroup of  $\overline{6}$ , and  
 $* - (H | = |\langle a \rangle| \cdot |K| = p \cdot p^{k+} = p^{k}$   
[ $\overline{Case 2}$ ]  $\exists x \notin \overline{z}(\underline{6})$ ,  $pX(\overline{6}; C(z))$ ]  
Then:  $* n = |G| = |C(x)| \cdot [G; C(z)]$  (Lagange)  
 $* q^{k}(n)$  coprime to  $p$  (hypothesis of thm)  
 $* pX(\overline{6}; C(s)]$  (hypothesis of thm)  
 $k = pY(\overline{6}; C(s)]$  (hypothesis of thm)  
 $K = pY(\overline{6}; C(s)]$  (hypothesis of  $G, z \in X$ )  
Hence:  $[p^{k}(|C(x)|), n]$   
On the other hand:  $C(X) \neq G$  (since  $X \notin \overline{z}(\underline{6}), s \circ$ )  
 $Y \notin C(X) = X$  (H)  
By the induction hypothesis,  $(K)$  contains  $H \leq C(X)$   
 $\exists$  of order  $p^{k}$ .  
But  $H \leq C(X) \implies H \leq G$ , so done with cose(s).  
(Letonce, done with induction step. Hence, done w/part)[]

Some examples  
() If G is a p-group, then 
$$Syl_p(G) = \{G\}$$
  
(2)  $|G| = 6 = 2:3$ , then  
 $: G = Z_G \longrightarrow Syl_2(Z_1) = \{Z_2\}$   $Syl_2(Z_G) = \{Z_3\}$   
 $: G = S_3 \longrightarrow Syl_2(S_3) = \{Z_2Z_1, Z_3\}$   $Syl_3(S_2) = \{Z_3\}$   
 $: G = S_3 \longrightarrow Syl_2(S_3) = \{Z_2Z_1, Z_3\}$   $Syl_3(S_2) = \{Z_3\}$   
 $: G = S_3 \longrightarrow Syl_2(S_3) = \{Z_2Z_1, Z_3\}$   $Syl_3(S_2) = \{Z_3\}$   
 $: Z_2 = (123)$   
 $: Z_2 = (123)$ 

In particular, 
$$Q_8 \notin S_4$$
 (also,  $Z_8, Z_4, Z_4, Z_4, Z_4, Z_4 \notin S_4$ )  
Theorem (Sylow III) If  $|G| = p^{k} \cdot m$ ,  $(pm) = 1$ , then:  
 $\cdot n_p = 1$  (mod p)  
 $\cdot n_p \mid m$  ( $n = index d p - 5ylow$ )  
Particular case: If  $m_p = 1$ , then there is a unique  
 $p - Sylow subgroup$ , which by  $Sylow T$  must be normal:  
 $Sylp(G) = \{T\} \implies gPg^{-1} = Q = P$   
 $geq$   
 $ress Sylow$  since  $m_{p-1}$   
 $\therefore P > 6$   
 $(orollaly N_p(G) = 1 \iff J! P p - Sylow subgroup \neq G$   
 $and P is mormal Subgroup$   
In publicular:  $m_p(G) \implies \exists P > G$   
 $Sylow subgroup & m_p(G) = 1 \Leftrightarrow \exists P > Sylow subgroup \neq G$   
 $So, if G is not a porm &  $m_p(G) = 1$ , then G is  
 $not simple$ .  
Examples  
 $O (GT| = 100 = 2^2 \cdot 5^2 \cdot Then, by SIT:$   
 $m_{5} = 1$  (mod S)  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$ ,  $(mod S) \land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$ ,  $(mod S) \land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$ ,  $(mod S) \land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} = 1$  ( $mod S$ )  $\land m_{5} \mid 4 \implies m_{5} = 1$   
 $m_{5} \mid 4 \implies m_{5} \mid 5 \implies m_{5} \mid 4 \implies m_{5} \mid 5 \implies m_{5}$$ 

(2) 
$$G = S_4$$
 [ $G = 24 = 8.3$   
 $N_2 \equiv 1 \pmod{2}$   $g = N_2 = 1 \text{ or } 3$   
 $N_3 \equiv 1 \pmod{3}$   $g = N_3 = 1 \text{ or } 4$ 

We know  $D_4 \in Syl_2(S_4)$ . in fact,  $N_2=3$ , and  $Syl_2(S_4) = 3$  conjugated coppes of  $D_4$   $= \int \langle (1234), (12)(34) \rangle, 2$   $\langle (1234), (13)(24), 2$   $\langle (1234), (14)(23), 2$ Also,  $N_3=4$  and  $Syl_3(S_4) = 3$  4 conjugated copper of  $\mathbb{Z}_3$ ?  $= \int \langle (1231), ((124)), \langle (134) \rangle, \langle (234) \rangle, \langle (234) \rangle$ ?